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Total No. of Questions : 70 + 20 + 6 = 96 Total No. of Printed Pages : 24

(597 : 38 15 fire) | (o1 : 70)

[ Time : 3 Hours 15 Minutes | [ Full Marks : 70)

gRIgnterat & ford fadr : Instructions for the candidates :

1. T OMR IAT UHE UY ST 1. Candidate must enter his / her
ToT gfe‘aa;r FHIE (10 HFH @) Question Booklet Serial No.
HFTFT ferd | (10 Digits) in the OMR Answer

Sheet.

2. W??ﬂzl? C A e o A ) Candidates are required to give their
I answers in their own 'words as far

as practicable,

3 A 3l g o 2 §I,T HF Tﬂf"ﬁ 3. Figures in the right hand margin
fifeee ava &1

indicate full marks.

4.17?7)‘67‘&;7#363;%#%‘%?4

15 minutes of extra time have been
Wgﬁ 15 ez &1 Sifafter a9q allotted for the candidates to read
Tar el

the questions carefully.

5. & 7¥7 Y 3 @vsl 7 §— @vs-a s,

This question booklet is divided into
oq m—a/

two sections — Section-A and
Section-B,
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Uy . ¥/ SECTION - A
aﬁﬁ{ﬁ‘ ¥ / Objective Type Questions

T SEr 1 @ maa,-%'mma}mmrﬁmﬁvwé‘

, frd & var @t &1
AL R —— OMR Wz T Pl #) foref 5

50Vt T IFT T

Question Nos. 1 to 7 35x1=35
s 0 70 have four options, out of which only one is correct. You have to

mark your selected option, on the OMR-Sheet, Answer any 35 questions. 35x1=235

1.  9Eng A g g
W co, B Hy
(C) CH, (D) ™ q |+
Biogas contains
(A) . CO, . (B) H,
(€, CHy - (D) Allof these
2. HifgT-3iteR for see d gl € 2
(A) TRRH (B) HRZHEARY
(C) UeRH (D) SEEATEE
In which stage does crossing-over take place ? |
(A)  Leptotene : ‘. (B) Cytokinesis
(C) » Pachytene (D) D.iakinesis
3. UoHlodRo @ fruent Sita giet & 2
(A)  HIV &I (B) &% T
© FmH ' (D) R
PCR is used to detect '
(A, HIV (B) TB.
(C) Cholera (D)  Cancer

- - ———— - ——
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WWWW#WWWW%,WwﬂW%
(A) AT B) mEEA

€ A= o) w A

t. This property j
Every living cell of plant can give rise to the whole plan property ig

known as . B
(A), Cloning (B) Somaclonal
! (D) All of these

(C)  Totipotency
srreraistt a3 s F R S PRI 1 E 2

(B) 2n

A n | .
©) 3n (D) (A) 3R (C) &HI
What is the ploidy level ol; chromosomes in endosperm of angiospermic plant ?
@ n - (B}~ 2n |
(C) 1 . | . | (D)  both (A) and (C)
<19 el ! e TR, T g Al ¥, o AE kel ST ¥
W i e B ol
© (W3R @ - (D) e Prem
When offspring is formed by single parent, it-is cal]edkas
| {A)  Sexual reproduction o (Bl Asexual reproduction
(C)  Both (A) and (B) (D) Internal fertilization
R g TRE ) et e et o
@) 21 . B) 23
G 3 D 46
\::)‘a‘ isz ;he number of chromosomes present in human gametes ?
© 44 (B) 23
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8. fr=rd @ w1 fawmy @ &1 aeh @R 7@ ¥ 2

(a) T (B)  SFgEET
) fewifar (o) fufses
Which of the following is not a viral disease ?
(A)  Mumps {B) Influenza
(C)  Diphtheria (D)  Measles

9, ﬁwfﬁf@aﬁﬂamﬁwﬁmaﬁ%?

(A)  HYHEE e (B) FHpS UEH

(C) TgH! S (D) e @dt
Which of the following is not included in animal.hlisbandry ?
(A) Bee-keeping (B)  Poultry fafming
(C)  Fish farming ' (D)  Organic farming

to. e o fovea oy A @ e & 7

(A)  T$9 TP "~ (B) o Elo FeEA
(C) VT eed (D) e Hig
"Who among the following is not related with microbiology ?
(A)  Louis Pasteur ' (B) J.D. Watson
(C)  Stephan Hales (D) Robert Koch
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11, TRy fewd arar smar € 2
(A) UH-3ARTAY ﬁ
(C)  HR-3RGIT H

Anticodons are found in
(A) m-RNA
(C) -RNA

12. Hew A ufawfe fear
(A)  FeerHdT 1 fEm
(€ (A) R (B) I

Mendel proposed
(A) Law of linkage
(C)  Both (A) and (B)

13. W%mﬁﬁmwmi?

(&) wwIaar 1 fam
(C) =Rl I gaT & Fram

Law of segregation is also known as’

(A) Law of dominance
(C)  Law of purity of gametes

(B)

(D)

(BL
(D)

(B)

(D)

B,

(D)

(B)

o)

(B)

(D)

14. i geriat & Frator st secqut ere &

(&) wfegifmar |
C) faerrg

(B)

(D)

H-ameAe A
it @

t-RNA

None of these

aﬁﬁmwﬁm
| i

Law of inheritance

None of these

-

e U F1 fram

R A

Law of independent assortment

None of these

IR

Which of the fomgng factors is important in the formation of new species ?

(A) COmpetition

(C) lSOlaﬁon )

B

(D).

Mutation
Continuous variation

[119]H |§A)-9069,~ﬁ(3sj_ |
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15. B @ s o o0 ¥ 2

(a)  grgwa (B) A=y

(€  (A) 3R (B) A . D) el

Which of the following is/arc inscctivorous plaﬁt(s) ?

(A)  Drosera (B)  Nepenthes

(C) - Both (A) and (B) (D)  Hydrilla

16. = 7 @ o Ivgfertt uoit & 7

(a) i (B) @
(C) (A) 3R (B) IAT (D)  Hgen
Out of the folldwing-which one is hermaphrodite organism ?
(A) Hen (B) Snake
(V" Both (A) and (B) ' (D) Earthworm

17. FRer A3 FMY 2 |
(A) IEe - (B) i@
(C)  HISHe (D)  Uehed iRt M=
Chlorella is a type of o ‘
(A) . Algae - (B)  Bacteria
(C) Protozoa , .+ (D) - Single cell protein
18, ‘@S’ et ¥ Fee wee @ g 2

(A) U - . (B) ¥
(c) I o | (D) W
'Cry-gene' prevents which crop from bollworm ?
(A)  Cotton ~ (B) Tea
(C) Mango (D)  Wheat
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19.

20.

21.

b 1 g w8 AT AR | -
(A) A sk Wt | (B) Elli.ilii .
©) @;ﬁq:,ﬁrganﬁh (D) .ﬁﬁ‘é‘a‘ﬂ?

Purinc bascs of DNA ar¢
(A)  Adenine and Cytosine
(C)  Adenine and Guanine

g FRU R AT € 2

(B Cytosin;: ‘a'nd Thymine
(D) None of these

© (&) 3R @) 3 (D) T | HIE I

Cancer is caused by

(A)  Bacteria (B)/ Oncogenes

(C) Both (A) and (B) (D)  None of these

G IS 0 397 ghg &

#) 3l For (B)  wfies gt
(D) 9 9§ #IE &

(B],  Sexual reproduction
(D) ' None of these |

B) T
(D)  diefis

(B)  Endonuclease
(D) Polymerase.

Page 8 of 24



39, LT IeE A GRET W Y A

(A)  TERT @ (B)  ISAT &I
(€ wiRRafaet & =i (D)  (A) 3R (B) AT
In National Park, Protection is provided to
(A)  Flora ~ (B) Fauna |
(C)  Ecosystem (D)} Both (A) and (B)
24. Tadias Seacwar ReeR G &
(A) 3R (B YRR
(€) FEERt | O) T X FKE
Secondary productivity is related to _ |
(A) Producers (B) Herbivores
(C) Camnivores (D) None of these -
25. URYUEE ¥ W AR § |
(A) A Y B B) Tt st /A B 100°C F FIW
(C) Tt ot et &l 70°Cc W (D). T ¥ IS &
Pasteurization is heating of _
(A)  iilk only . (B)  any liquid above 100°C
(C)  any liquid at 70°C " (D)’ none of these
26. - WO gt €
@ TE-wR B) - fiww
© Frem (D) &R
The wall of pollen grain is
(A)  Single layered (B)  Double layered
- (C)  Triple layered D) Multi-layereq
; [119 ) H (A)-9009-Hgs) Page 9'of 24 T —————




- et tenge A I 5

: TOTII 0 3
A wtféyy teem ),
i AL It »
() w6 @, .
7oty arjpittee frern
(Al JAnne prperown (Y [eamach
(U Thymue Yy Liver
9K ReoR) o wn we b
(A Ham M) {8y E. col
@ ) ¥R ) T 0 Hindl 11
Source of EeoRl enzyme 18
(A} Bam H) i) Ecob
(< Both (A} and (13) 13]} Hindl L1
26 Umaw i
A WEE §E By srETd s
© e D) T W FTE
Echudna s
(A)  Caonnecung hink (8)  Yestigial 6rgan
(C)  Exunc hnk (D) Mone of these
3) EEIF
() T i @ WIS

ah < 3 3 “rel= NN e
Dodo is
(23} Ell.d.angcrcd species
D) Nong of these

. [19]H l(@-guw-mm
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34.

ERIE LR 1 ﬂmf"tn sty B Y

(A) A mo e

Wihiish i fhe Trillowsingg de a IpI0LA aensp e 3
MY, Prdimperant

(Al S
1), kil these

) PG LALALS

ks 43 o win then orofighere B 5

VR 1 Ly o

< viem (120 W
Which one i hvdrophytic plent 2

A} Tvapa iy Opuntia
(CH Salbergia ity Acusia
avoh wittorant wrdl ol R

(A}  FIm R ¥ 3 et o
(€ sizwm A >y wFAH
Scertol cells are found in

(A} Tesus (Bj Urerus
(C) Ovary Dy Liver
™ (4oW) A g & Ee §

(A) A4 < XX B) 49 = XY
(C) Ab+XY By 46 » XX
Number of chraomosomes 0 human being (male) is

(A) 44 + XX B) 44Xy
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35.

36.

37.

38.

—_—
= _ i3
[119]H liA)-9009-H(3s) Page 12 of 24

a1 avyarva fed T4 3 sl € ?
S

(B) yfgeaw et

() 8H :

(C) I WV L.

Rhino sanctuary is located in which statec ?

(A)  Assam (B) West Bengal

(C)  Uttar Pradesh (D)  Bihar
sRuAu % ureiife o gEr S @ |
@A) | aEfEs T aEE B) AN wd qEEA
) wERfE ud gfae (D) . g d e
Pyrimidines present in RNA. are .

(A) Cytosine and Thymine (B) Adenine and Guanine
(C) Cytosine and Uracil _ (D) Thymine and Uraqil
Fraer G et w1 3ua T o @ etar € 2

a) Tewrifen . B) wItag

C) TEAEHS (D) 2T

Triple antigen vaccine is not used for

(A) Diphtheria (B) Pertusis

(C)/ Typhoid " (D) " Tetanus

=1 | %7 deeE T 7@t R 2

® e (B) TERIGRIEE

wh(A) ich of the followigg is not a greenhouse gas ?

M o
(€ C;thane ' | (B)  Chlorofluorocarbon
2

(D) Nitrogen




39.

40,

41,

42,

w1 U 3w wfag 3

(A) Tafedl % fao |y At % fem

© =% o ) ufzmer & fam

Kanha National Park is famous for

(A) Birds (B)  Tigers

(C) Rhinoccros (D) Crocodiles

=1 & 1R R Jae = w@ e 2

(A) =R, T HR 3 (B) w1, M 3R U
€ uw, TH AR IR (D) UM, HOE FAR TR
Which of the following is the correct food chain ?

(A) Grass, Wheat and Mango (B) Goat, Cow and Grass
(€}~ Grass, Goat and Lion (D)' Grass, Fish and Goat
e €

() R + T G T 9 (B) YR + HiEhe
(C) TG IH AW +FEE . (D) T AW

Nucleoside is _
(AL~ Sugar + a nitrogenous base (B) Sugar + Phosphate
(C) Nitrogenous base + Phosphate (D)  None of these

itz frmior &1 Fed €

(a) IR (B) WIERIEHEAS
€ @WRSARH (D) ¥ | IS &
The process of formation of gametes is called

(A)/ Gametogenesis (B)  Cytokinesis
(C) = Sporogenesis (D) None of these

[ 119 ] H [(a)-9009-Hes) Page 13 of 24




a3,

44.

45.

46.

¥ 2
et HisA yafora & &
QT—T
B A Bl n’aﬂiﬁ,
@A) S AHIEIRY] . (B) |
o) A

(C) A @ i“lﬁm

odel represent ? .
Gene expression

What docs operon m
(A) Gene synthesis s (B)
(C)  Gene regulation (D)

ﬁﬂﬁﬁmwmm%?

Gene function

W T ® ¥

© - (D) Egl] ¥ aft

Thalamus is edible part in which of the following ? - '
(B) Apple

(A) Annona
(D) A_ll of these

(C) Orange
e frer | | fraer aaﬂ&mm T ?
) ot (B) %e‘ré‘ﬁ'!l’rm
(@ (A) #R (B) FH O AR
z:)‘m is genetic material of https://\\'\vw.bscbﬁludy com |
T™V |
B) i
(C: “— :D)) iacten;)phage
e : one of these
e & % S+ T ya ey &
W g : |
& i | B) fefest
Fow ot gy | O ¥ & A

(B)  Bidirectj onal
(D) None af these




47.

48.

49.

50.

.
£

oy 3 Q B TF SN @R T E ?

(A)  SRiEERT B) dged 51737%1. T _
(© o | D) TGS

Which cf the following is not a biofertilizer ? :

(A)  Azotobacter (B)  Bacillus thuringiensis
(C) Azolla . (D)  Clostridium

& T AT WA g e grr e ® 2

(A)  wA : : (B) &

c ®e (D) TWEH
Tuberculosis is transmitted by :

(A) Water B (B) Air

(C) Insect (D) Contact

st Ruaer srygpera aiiRefa & s fmtor sear & 2

A S9ag- (B)
© "em . (D)
Bio-reactors in optimal conditions produce
(A) Product | (9)
(C) Medium {D})

Sy
i & el

Organism

- All of these

Rt 5 @ o R g @ e SO S d

A) Focsie . (B) U=Iuieew

(C) WeTdH HINH . D) Tedaw FEw
Which onc forms endosperm alfter fusion with male gamete 7

(A)  Oospores {B)  Antipodals

(C)  Synergids {BY” Secondary nucleus

Blil(A)-9009-Hzs) . Page 15 0f 24




Sl

52.

S3.

-7 2 AT e § )
@ﬁaa@,@#ﬁm%mmﬁm%ﬂl%lmmaﬁ

(A) uimefag @) spafer |
() 3Fiena (D) z} @ FE Tl
: :s phcnomenon is
One gene pair hides the cffect of another gene pair. This p
2 : i
(A) . Epistasis (B) Dominanc
(CT Mutation (D)  Nonc of thesc

ZET ST § U SR A dR aRe &1 w9 S gevened AR HiEh g
g &, 3W T A © 2

@ (B) T B

© A (D)  FHNA HISH

A scquence of three bases on tRNA which binds to mRNA codon is

(A)  Triplet (B) Non-sense codon

(C), Anticodon (D) Termination codon

TR SR R SR A W I Gy e 2 T WE T 2

(a) SIS (B) Sy

e/ Ty (D) - eifirey

'(I;:" U‘;)‘::tz;":ucherena bancrofti which causes filaria jn human being is
(C)  Virus (B)

Bacterig




ﬁm%ﬁ“*’@m%

(A)  uwfagy :
(B)  ua @ Y
©) ey |
(D) @ U
An exception of Mendel's law is
(A)  Dominance (B)  Purity of
'(C) - rity of gamete -
J\-/.I' age : (D) - Independent assortment
= 1 ¥ 99 9 gaie WATE 2
(A) <% . (B) &
(© "R D) fawfer
Which of the following is a sexually transmitted diseasc ?
(Q)/‘ T‘yphoidA (B) Cholera
(C)  Malaria (D)  Syphilis

mmﬁaﬁmmmé?

(A) . SRS _— (B) o=

(C) IRI® D) TR g
Aril is edible in which of the following fruits ?
(A) Myristica, (B)/ Litchi
(C) Annona (D)  All of these
SO, WgNYI T U &
(4) e | (B) TS
©  waw O T F Wi
1ndicat°,. of SO, pollution is
i‘é) Algae (BY" Lichen

) Fungi (D) All of these
\

1H @& ~9009-Hs | * Page 17 of 24 R e



59.

60.

61.

(A) R AyFel . fB) el Puticl

©) e Ay D) (A) &R (B) T
Honey is made by

(A) Male honeybee . (B) Queen honeybee
(C)_~ Worker honeybee (D)  Both (A) apd (B)
fr=ifted & -8 SR gfial A 2t 2

(&) & B) TR

©) (A) 3R (B) IA (D) JHEd
Which disease is found in hen ? . '

(A) Cholera (B) Smut

(C) Both (A) and (B) ' D) Ranikhet
Teell U X1 T 31T TRy GeEsiid & WA § SR A € 2
A) Sawpo B) e

© faomp | o) de

The flour of Idli and Dosa is made by the use of which microbe ?

(A) Bacteria : (B) Lactobacillus
(C) ~ Virus 0_3_1/1 Yeast

62. W@‘a@mﬁ%mmm%?

) e N
) .
A&arfose is extracted from
Maj '
o e (B) Sea weeds

oy :
M9 R — m”s (D) Noncofthese

Hag) Page 18 of 24 TH e



63.

64.

65.

66.

aﬁqﬁtﬁsﬁ%aﬁmi’aamqv.?

(A)  FEH T Hich B) frant

(C) S o W D) T QIS @
Operon model was proposed by

(A)  Watson and Crick (B) ~Nirenberg
(Q_)x Jacob and Monad (D)  None of them
e = e g ¥ 2 | |

(a) wTEH - ® FH

© Tadsh = | D) ¥ EH A
Menstrual cycle occurs in 5

(A) Human’ . (B) Monkey .

(C) Chimpanzee A (D) All of these
fdie fora & wran s & 2

A)  o7HlET B)  uRTHIfvET T
© @RI O R B
Binary fission occurs in |

(A Amoeba - (B Paramecium
(C) Both (A) and (B) ~ (D) None of these

" Jroeu avp A W 18% & at Wef @ wfwr @ @ )

(A) 64 (B) 36
(c) 85 ' (D) 32
In a DNA molecule, the cytosine is 18%, then the percentage of adenine iy B
(A 64 B) 36
(©) 85 (l?)/¢ 32

11921 143 (A"QO_Q_g;li(."ﬁ-"- Page 19 of 24
119 ] | ______




-

68.

69.

70.

v ?
fazie wdean e qfie & fere fgem ST &

: ZITRIEIS
) TR (B)
2
C) UZA o)
Widal test is donc 10 confirm
(A)  Malana (B) Typhoid
(C) AIDS (D), Cancer

Hiv Fm 1 T i TSRV HTAT € 2

(A) G-Il (B) TSI

© iufeae i (D)  T-XCHR I
HIV attacks on which of the following cells ?

(A)  B-cell (B) T-ccll

(C) Epithelial cell (I?)/ T-helper ccll
TR we e wid wfawen ewfmar @it 8, 3% @ed &

(A) T B) e

(€ U 0) TRIA

The substances to which an immune i
Tesponse is produced
(A) Allergens Eia

(C)  Antibodies
& e e e e
e

' . B) fatRf
€ JA) AR (B) ﬁ

' (D
Chemical released qye 1, i ) T/ =
(A) Histamip,. Tgy is

(C) B

(B)  Vaccines
(D :
s/) : Antlgens

l 155 oth (A) apg (B) (B) Serotonin
| |H [a -9009.Hm, (D) None of these

Page 20 of 24



@U¥ - & / SECTION - B

Y I Wy / Short Answer Type Questions

mmz#zow%?:&#zom%mé/m*ﬁvzw
freifRe & : -

10 x2 =20

Question N
0s. 1 to 20 are Short Answer Type. Answer any 10 questions. Each question

carrie .
s2marl§s. 10 x2=20

L U i wfalrs (vfweh) @t s Tmife for s | 2
Draw a neat labelled ’diagram of a typical antibody.

2. Vol S w2 v § e o A ) @ e & A e
fertoan fordd | 2

What is biodiversity hotspot ? Write down the names and specialities of ‘two

such hotspots of India.

3. I YSTA 94918 2

2
What is inb;'eeding ?
4 - FoTEAREE FAUEH W TR B ,
Throw light on Klincfelter's syndréme_
T = e & FRN F fer :
K Write reasons for success of Mendel.
6. g S A E ARt w5ty P

Define Coupling and Repulsion,

il 19 ]@9009-%87! : Page 21 of 24



10..

11.

12,

13.

14,

15.

- Name any two cnzymcs

DNAnﬁ??ﬁé?%qanamiwﬂméﬂzkamﬁaﬂﬂmuﬂmasf‘amﬁ@
fafme e T Ui @1 ,

required for DNA replication and mention one specific

function of cach of them. _
QAT FT & > 3 fafyy gRT UIRH} % IARA & qET o HFE

What is micropropagation ? What arc the main advantages of producing plants

2

through this technique ?

w8 7 ZralheT @ v W ¢
Describe transcription in bﬁef.
SR (S =Ry F e foeroT a1 2

.Explain Biopiracy in bricf.

Hiafoataq T & ? 39S FRE H T FdF T 39 T F TN FT 909 FL) 2

What is Amocbiasis ? Name its causal organism and describe the symptoms of

this discasc. https:// www bsebstudy.com

TSl 1 E 7 T Tl 1 W A 9ol Y : 2.

What are allergies ? Describe its symptoms in brief, -

< & Fwl B o ' . 5

Write the functions ;)f blood.
va}aawﬁnw% ? 39 9Tl 1 Al

Wha& is global warming ? Explain its effects,

Fh°@°3ﬁo,q’{ TRTST T |

Throw light on, G.M.O.

(119 lt |
| ] H (A) 9009-“{38) Page 22 of 24




16. T ISR & AR e F @es @ Aifene foor F¢

Draw a ncat and well labelied diagram of transverse scction of human ovary
17.  WETe Ry fR o € 2
What is test-tube baby ?
18. HEHWE Uyl &% RS SHer i u0 A
Describe the ecological adaptation of xerophytic plants
19.  IChiEe % JEIRVIET &1 FUF |
Describe the ill effects of alcohol.
20. Il HTARET W ser =l
Comment on Innate immunity.

e I W9 / Long Answer Type Questions

__m#@rzz#zs##aaﬁamilﬁﬁ?swﬁé;awilm%ﬁ
5 3w fraifa &1 397 afimaw 1209t & g wife

3xX85=15
Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 3 questions. Each

question carries 5 marks. Give your answer in about 120 words

: 3x5=15

p1. Fa® davd W UF FEy ford | ‘ _ .
Write an essay on lissue culture,

on. gsdta ddt # G & fiar @ oty w5y )
Describe fertilization in flowering plants

: 28 ﬁ—asfz‘alﬁz SIEAY et w1 ikt aot &Y )
f % ‘5
owc recombinant DNA technology in brief,

[ 1191 H [l M Page 23 of 24 x




e STl & W Rt Rt 1 a0 L
Describe three ecological pyramids with suitable examples.

i G g o e e ffe o e X

ion control.

24.

25. .
Discuss various methods of contraception for the populat

26;2:_.'11?\‘3‘11?!?@% > st U UR | Fw g T |

% What is pisciculture ? Mention its role in enrichment of our food.

[119 ] H [A)-9009-Hes] - ——
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